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Section : English Language

Q.1 Select the INCORRECTLY spelt word.
Ans 1. Interrogation

2. Magistrate
3. Preliminary

4. Diciplinary

Question ID : 264330142639
Status : Answered
Chosen Option : 1

Q.2 Identity the correct spelling of the underlined word.
Those friends meet occassionaly.
Ans 1. accationally
2. occasionally
3. ocassionaly

4. occationally

Question ID : 264330143195
Status : Answered
Chosen Option : 2

Q.3 Parts of the following sentence have been given as options. One of them may contain
an error. Select the option that contains the error. If you don’t find any error, mark ‘No

error’ as your answer.
In this world of competitions, every one of us is required to plan our course careful.

Ans 1. every one of us is required
2. No error
3. In this world of competitions

4. to plan our course careful

Question ID : 264330143032
Status : Answered
Chosen Option : 4




Q.4 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

She makes sure that all the newly realised books are available in her personal library.

Ans 1. the newly released books
2. the newly regaled books
3. the newly relieved books

4. the newly reverberated books

Question ID : 264330143968
Status : Answered
Chosen Option : 1

Q.5 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.
A. The museum exhibit showcased an impressive collection of ancient artifacts.
B. Visitors from around the world came to marvel at the intricate carvings and delicate
pottery, each piece telling a story of the people who had created it.
C. The museum's director was proud of the exhibit and the efforts his team had made
to curate it.
D. However, one day, a visitor claimed to recognise a piece that had been stolen from
his family's home many years ago.
E. The director was shocked and vowed to investigate the matter thoroughly.

Ans 1. CABDE
2. BCEDA
3. CDEAB
4. ABCDE

Question ID : 264330144204
Status : Answered
Chosen Option : 4

Q.6 Select the option that expresses the given sentence in active voice.
She is given proper guidance by her boss.
Ans 1. Her boss will give her proper guidance.
2. Her boss has given her proper guidance.
3. Her boss gave her proper guidance.

4. Her boss gives her proper guidance.

Question ID : 264330141356
Status : Answered
Chosen Option : 4

Q.7 Select the most appropriate ANTONYM of the given word.
Witty
Ans 1. Serious
2. Cynical
3. Callous

4. Giddy

Question ID : 264330142630
Status : Answered
Chosen Option : 3




Q.8 Select the most appropriate synonym of the underlined word in the given sentence.

The children did not like the abominable table manners of old aunt.
Ans 1. delectable

2. stringent
3. obnoxious

4. inflexible

Question ID : 264330144252

. Not Attempted and
" Marked For Review

Chosen Option : --

Status

Q.9 Select the option that can be used as a one-word substitute for the given group of
words.
A person who believes that all events are predetermined or subject to fate

Ans 1. Fatalist
2. Credulous
3. Egotist

4. Aristocrat

Question ID : 264330143203
Status : Answered
Chosen Option : 1

Q.10 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options.
The investigation conducting by the research team / yielded statistically significant
results / providing substantial evidence / to support the hypothesis.

Ans 1. to support the hypothesis.
2. yielded statistically significant results
3. providing substantial evidence

4. The investigation conducting by the research team

Question ID : 264330143926
Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate meaning of the given idiom.
A hard nut to crack

Ans 1. Any subject which several folks are talking about
2. Something that people believe or accept as true without questioning it
3. An excessive enthusiasm or rage about a minor matter

4. A problem that is difficult to solve

Question ID : 264330144281
Status : Answered
Chosen Option : 4




Q.12 Select the most appropriate ANTONYM to replace the underlined word in the following
sentence.
Darwin drew our attention to the gradual accumulation of unfavourable traits and its
direct relationship with the survival of those presumed lucky species, which then
serve as breeding grounds for more desirable traits.

Ans 1. advantageous
2. fulfilling
3. steady

4. negative

Question ID : 264330143958
Status : Answered
Chosen Option : 1

Q.13 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.
P. Crane was the fourteenth child of a methodist minister
Q. born in Newark, New Jersey
R. who had signed the declaration of independence
S. who named him after an ancestor

Ans 1. PQSR
2. PQRS
3. QPSR
4. QPRS

Question ID : 264330149708
Status : Answered
Chosen Option : 1

Q.14 Select the appropriate ANTONYM of the underlined word to fill in the blank.
Our administration uses techniques to get their work done. They do not rely on
overt tactics.

Ans 1. covert
2. apparent
3. clear

4. patent

Question ID : 264330149752
Status : Answered
Chosen Option : 1

Q.15 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.
If  was you, | would not have appeared for the entrance exam.

Ans 1. would
2. would have been
3. No substitution required

4. were

Question ID : 264330143201
Status : Answered
Chosen Option : 4




Q.16 Select the most appropriate ANTONYM of the underlined word in the following
sentence.
Conducting in-depth research and analysis of a startup as part of creating an
investment memo is an important step for potential investors to evaluate the viability
and potential of the startup.

Ans 1. Liability
2. Incredibility
3. Feasibility

4. Extempore

Question ID : 264330143959
Status : Answered
Chosen Option : 1

Q.17 Select the option that expresses the given sentence in passive voice.

Mr. Hamel teaches the boys.
Ans 1. The boy’s are taught by Mr. Hamel.
2. The boys are being taught by Mr. Hamel.
3. The boys are taught by Mr. Hamel.

4. The boys were taught by Mr. Hamel.

Question ID : 264330141347
Status : Answered
Chosen Option : 3

Q.18 Select the most appropriate idiom for the following sentence.
Her visits to her family are very rare because she lives out of the country.

Ans 1. Few and far between
2. Eggon
3. Beck and call

4. Allin all

Question ID : 264330141305
Status : Answered
Chosen Option : 1

Q.19 Select the most appropriate ANTONYM of the underlined word.
My friend believes in supernatural elements in the universe.
Ans 1. Magical
2. Usual
3. Unkind

4. Unnatural

Question ID : 264330143184
Status : Answered
Chosen Option : 2




Q.20 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

It was Ravi, not his friends, / who were shouting / at late hours last night.

Ans 1. It was Ravi, not his friends,
2. No error
3. who were shouting

4. at late hours last night.

Question ID : 264330150433
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Unemployment is a major issue in India that (1) millions of people across the
country. Despite being one of the fastest-growing economies in the world, India has struggled
to create (2) jobs to keep up with its rapidly expanding population. The
unemployment rate in India varies widely (3) different states and regions. Young
people, in particular, face significant challenges in finding employment. Many are highly
educated but lack the skills and experience needed to (4) in a highly competitive job
market. There are many factors contributing to the high levels of unemployment in India.
Some of these include a lack of investment in infrastructure, a mismatch between the skills of
workers and the needs of employers, and a lack of access to finance for small and medium-
sized businesses. The Indian government has launched several initiatives to address the
issue of unemployment in the country. These include programs to support small businesses,
increase investment in infrastructure and provide vocational training to young people.
However, much more needs to be done to create sustainable, long-term employment
opportunities for all Indians. Unemployment can have serious social and economic
consequences, including poverty, crime and social (5)

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans 1. compromises

2. effects
3. controls

4. affects

Question ID : 264330149615
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Unemployment is a major issue in India that (1) millions of people across the
country. Despite being one of the fastest-growing economies in the world, India has struggled
to create (2) jobs to keep up with its rapidly expanding population. The
unemployment rate in India varies widely (3) different states and regions. Young
people, in particular, face significant challenges in finding employment. Many are highly
educated but lack the skills and experience needed to (4) in a highly competitive job
market. There are many factors contributing to the high levels of unemployment in India.
Some of these include a lack of investment in infrastructure, a mismatch between the skills of
workers and the needs of employers, and a lack of access to finance for small and medium-
sized businesses. The Indian government has launched several initiatives to address the
issue of unemployment in the country. These include programs to support small businesses,
increase investment in infrastructure and provide vocational training to young people.
However, much more needs to be done to create sustainable, long-term employment
opportunities for all Indians. Unemployment can have serious social and economic
consequences, including poverty, crime and social (5)

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.
Ans 1. enough

2. few
3. many

4. little

Question ID : 264330149616
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Unemployment is a major issue in India that (1) millions of people across the
country. Despite being one of the fastest-growing economies in the world, India has struggled
to create (2) jobs to keep up with its rapidly expanding population. The
unemployment rate in India varies widely (3) different states and regions. Young
people, in particular, face significant challenges in finding employment. Many are highly
educated but lack the skills and experience needed to (4) in a highly competitive job
market. There are many factors contributing to the high levels of unemployment in India.
Some of these include a lack of investment in infrastructure, a mismatch between the skills of
workers and the needs of employers, and a lack of access to finance for small and medium-
sized businesses. The Indian government has launched several initiatives to address the
issue of unemployment in the country. These include programs to support small businesses,
increase investment in infrastructure and provide vocational training to young people.
However, much more needs to be done to create sustainable, long-term employment
opportunities for all Indians. Unemployment can have serious social and economic
consequences, including poverty, crime and social (5)

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.
Ans 1. from

2. between
3. across

4. amongst

Question ID : 264330149617
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Unemployment is a major issue in India that (1) millions of people across the
country. Despite being one of the fastest-growing economies in the world, India has struggled
to create (2) jobs to keep up with its rapidly expanding population. The
unemployment rate in India varies widely (3) different states and regions. Young
people, in particular, face significant challenges in finding employment. Many are highly
educated but lack the skills and experience needed to (4) in a highly competitive job
market. There are many factors contributing to the high levels of unemployment in India.
Some of these include a lack of investment in infrastructure, a mismatch between the skills of
workers and the needs of employers, and a lack of access to finance for small and medium-
sized businesses. The Indian government has launched several initiatives to address the
issue of unemployment in the country. These include programs to support small businesses,
increase investment in infrastructure and provide vocational training to young people.
However, much more needs to be done to create sustainable, long-term employment
opportunities for all Indians. Unemployment can have serious social and economic
consequences, including poverty, crime and social (5)

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no. 4.
Ans 1. expel

2. exaggerate
3. expand

4. compete

Question ID : 264330149618
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Unemployment is a major issue in India that (1) millions of people across the
country. Despite being one of the fastest-growing economies in the world, India has struggled
to create (2) jobs to keep up with its rapidly expanding population. The
unemployment rate in India varies widely (3) different states and regions. Young
people, in particular, face significant challenges in finding employment. Many are highly
educated but lack the skills and experience needed to (4) in a highly competitive job
market. There are many factors contributing to the high levels of unemployment in India.
Some of these include a lack of investment in infrastructure, a mismatch between the skills of
workers and the needs of employers, and a lack of access to finance for small and medium-
sized businesses. The Indian government has launched several initiatives to address the
issue of unemployment in the country. These include programs to support small businesses,
increase investment in infrastructure and provide vocational training to young people.
However, much more needs to be done to create sustainable, long-term employment
opportunities for all Indians. Unemployment can have serious social and economic
consequences, including poverty, crime and social (5)

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.

Ans 1. cohesion
2. stigma
3. unrest

4. solidarity

Question ID : 264330149619
Status : Not Answered
Chosen Option : --

Section : General Intelligence




Q.1

Ans

1. \/

) \H\‘i\

) \’\H\H

4,

Question ID : 264330147233
Status : Answered
Chosen Option : 3

Q.2 Read the given statements and conclusions carefully. You have to take the given statements to be true even if they
seem to be at variance from commonly known facts. You have to decide which conclusion/s logically and definitely
follow/s from the given statements.

Statements: All Shoes are Feet. Some Shoes are Boxes. All Boxes are Houses.

Conclusions: (1) Some Houses are Shoes.

(Il) Some Feet are Boxes.

Ans 1. Both conclusions (1) and (Il) do not follow.

2. Only conclusion (I) follows.

3. Both conclusions (1) and (lI) follow. Question ID : 264330151165
Status : Answered

4. Only conclusion (11} follows. Chosen Option : 3




Q.3

Ans 1. 2
2.1
5. 4
4. 5 Question ID : 264330147193
Status : Answered
Chosen Option : 3
Q.4
Ans 1.
2. 131
3.
4. Question ID : 264330146412
Status : Answered
Chosen Option : 3
Q.5
Ans 1.
2.11: 130
3. Question ID : 264330147018
4 Status : Answered

Chosen Option : 4




Q.6

Ans . 69
-6l
- 63
- 65
Question ID : 264330152029
Status : Answered
Chosen Option : 2
Q.7
Ans
Question ID : 264330146647
Status : Answered
Chosen Option : 4
Q.8
Ans

Question ID : 264330147416
Status : Answered
Chosen Option : 4




Q.9

Ans
1. <<| %
2 D %
3. <:l E
4. [> §
Question ID : 264330146472
Status : Answered
Chosen Option : 4
Q.10
Ans 1.
2.
3.
4.

Question ID : 264330147093
Status : Answered
Chosen Option : 4




Q.11

Ans 111
2. 12
3. 10
4.9
Question ID : 264330146921
. Not Attempted and
Status - Marked For Review
Chosen Option : --
Q.12
Ans 1. 31
2. 39
330
4. 38 Question ID : 264330150898
Status : Answered
Chosen Option : 1
Q.13

Ans 1. DEDDED
2. EDEDED
3. EDDEDD

4. DEEDEE Question ID : 264330150448
Status : Answered
Chosen Option : 3




Q.14

Ans
Question ID : 264330147274
. Not Attempted and
Status - Marked For Review
Chosen Option : --
Q.15
Ans
Question ID : 264330146690
Status : Answered
Chosen Option : 2
Q.16
Ans
Question ID : 264330147270
Status : Answered
Chosen Option : 1
Q.17
Ans

Question ID : 264330146979
Status : Answered
Chosen Option : 2




Q.18

Ans
- 787
772
Question ID : 264330147441
Status : Answered
Chosen Option : 3
Q.19
Ans 1.
2.
Question ID : 264330147365
s Status : Answered
4. Chosen Option : 3
Q.20
Ans

Question ID : 264330147418

Not Attempted and
Marked For Review

Chosen Option : -

Status :




Q.21

Ans L I7—-14—-15
2. 33 -26-25
tion ID : 264330152052
3.390-33-30 Ques
Status : Answered
4. 22—18-20 Chosen Option : 3
Q.22
Ans 1
2.
3.
Question ID : 264330147163
4. Status : Answered
Chosen Option : 1
Q.23
Ans 1.
2.
3.
4. 97 Question ID : 264330146405
Status : Answered
Chosen Option : 1
Q.24
Ans 1.
2.
3. J4
4.

Question ID : 264330147448
Status : Answered
Chosen Option : 4




Q.25
Ans 1.

Question ID : 264330147089
Status : Answered
Chosen Option : 2

Section : Quantitative Aptitude

Q1
Ans
1.
2.
3.
Question ID : 264330147909
Status : Answered
4. Chosen Option : 3
Q.2
Ans 1. 35
2.
3.
Question ID : 264330146826
4.

Status : Answered
Chosen Option : 3




Q.3

Ans 1.
2.3
31
4.4
Question ID : 264330148430
Status : Answered
Chosen Option : 2
Q.4
Ans
1.
2.
3.
4.
Question ID : 264330148788
Status : Answered
Chosen Option : 1
Q.5
Ans =]
1=
16
o
2. B =
16
11
3. 9=
16
o
4.9
16

Question ID : 264330146850
Status : Answered
Chosen Option : 4




Q.6

Ans
Question ID : 264330146855
Status : Answered
Chosen Option : 2
Q.7
Ans 1. 16%
2. 15%
3. 18%
4. 17% Question ID : 264330149436
Status : Answered
Chosen Option : 1
Q.8
Ans 1.
2.
3.
4,
Question ID : 264330147708
Status : Answered
Chosen Option : 2
Q.9
Ans 1. 11%
2. 9%
3. 10%
4. 12% Question ID : 264330151367

Status : Answered
Chosen Option : 4




Q.10

Ans

Question ID : 264330147717
Status : Answered
Chosen Option : 1

Q1 Find the radius of the circle x2 + y? =25.

Ans 1. 25 ynits
2. 5 units
3. 2 units
4. 12 units
Question ID : 264330149457
Status : Answered
Chosen Option : 2
Q.12
Ans 1.
2.
3.
4.
Question ID : 264330147888
Status : Answered
Chosen Option : 3
Q.13
Ans 1.
2.
3.
4,

Question ID : 264330147732
Status : Answered
Chosen Option : 4




Q.14

Ans 1 135°
2.125°
3.100°
4. 9[]“ ! .
Question ID : 264330148898
Status : Not Answered
Chosen Option : --
Q.15
Ans 1
2.
3.
4.
Question ID : 264330148189
Status : Answered
Chosen Option : 2
Q.16
Ans 3
11—
5
2.7 2
L
3.1 4
7
4. 7 3
7

Question ID : 264330149332
Status : Answered
Chosen Option : 2




Q.17 sec34” tan70°
The value of
C

— 2tan45° is equal to:

osec3e” cot20*®

Ans 1 2
2.0
31
4.3
Question ID : 264330148837
Status : Answered
Chosen Option : 2
Q.18
Ans 1.12:5
2.
3.
4.
Question ID : 264330148395
Status : Answered
Chosen Option : 3
Q.19
Ans 1. 7.7
2.
3. 8.8
4. 6.6
Question ID : 264330147738
Status : Answered
Chosen Option : 2
Q.20
Ans
1.
2.
3.
4 Question ID : 264330148791

Status : Answered
Chosen Option : 4




Q.21

Ans 1. 21
215

Question ID : 264330147791

4.18 Status - Nt Attempted and
" Marked For Review

Chosen Option : --

Q.22
Ans
1.
2.
3.
4.
Question ID : 264330148030
Status : Answered
Chosen Option : 4
Q.23
Ans 1.
2.
3.
4. Question ID : 264330148750

Status : Answered
Chosen Option : 2




Q.24

Ans 1. §

2.Q
3. p

Question ID : 264330147905
Status : Answered
Chosen Option : 1

Q.25

Ans 3

o

N
BN

&

&
wll ™

Question ID : 264330148873
Status : Answered
Chosen Option : 1

Section : General Awareness




Q.1

Ans 1.
2.
3.
4.
Question ID : 264330145717
Status : Not Answered
Chosen Option : --
Q.2
Ans 1
2.
3.
4. Question ID : 264330145618
Status : Not Answered
Chosen Option : --
Q.3
Ans 1

Transportation of foodgrains up to designated depots in each state/UT

2.

3.

Question ID : 264330150373
Status : Not Answered
Chosen Option : --




Q4

Ans

Question ID : 264330150078
Status : Not Answered
Chosen Option : --

Q5

Ans

Question ID : 264330145906
Status : Answered
Chosen Option : 3

Q.6

Ans

Question ID : 264330146103
Status : Not Answered
Chosen Option : --

Q.7

Ans

Question ID : 264330144755
Status : Answered
Chosen Option : 3




Q.8

Ans

3. 5ix
4. fiye

Question ID : 264330145809
Status : Answered
Chosen Option : 2

Q.9

Ans

Question ID : 264330144700
Status : Not Answered
Chosen Option : --

Q.10 As per In the year 2022, which Indian airport had the most passengers and aircraft movements?

Ans 1.
Chhatrapati Shivaji Maharaj International Airport (Mumbai)
2. Rajiv Gandhi International Airport (Hyderabad)
3. Indira Gandhi International Airport (Delhi)
4. Kempegowda International Airport (Bengaluru)
Question ID : 264330155018
Status : Answered
Chosen Option : 3
Q.11
Ans 1.
2.
3.
4.

Question ID : 264330145947
Status : Marked For Review
Chosen Option : 2




Q.12

Ans

1.
2.
3.
4.
Question ID : 264330150330
Status : Answered
Chosen Option : 2
Q.13
Ans 1.
2.
3.
4,
Question ID : 264330145752
Status : Answered
Chosen Option : 2
Q.14
Ans 1.
2. Subsidies
3.
4.
Question ID : 264330151335
Status : Answered
Chosen Option : 2
Q.15
Ans 1
2.
3. Afestival
4,

Question ID : 264330148550
Status : Not Answered
Chosen Option : --




Q.16

Ans L. Ratna Naik
2. Tama Dora
3.
4. Dayanidhi Dharua
Question ID : 264330150399
Status : Not Answered
Chosen Option : --
Q.17
Ans 1.
2.
3.
4,
Question ID : 264330151259
. Not Attempted and
Status : Marked For Review
Chosen Option : --
Q.18
Ans 1.
2.
3.
4,
Question ID : 264330144777
Status : Answered
Chosen Option : 3
Q.19
Ans 1.
2.
3.
4,

Question ID : 264330144464
Status : Not Answered
Chosen Option : --




Q.20

Ans . &0
- 55
- 56
- 60
Question ID : 264330146287
Status : Not Answered
Chosen Option : --
Q.21
Ans
Question ID : 264330144710
Status : Not Answered
Chosen Option : --
Q.22
Ans
Question ID : 264330144491
Status : Not Answered
Chosen Option : --
Q.23
Ans

Question ID : 264330146553
Status : Answered
Chosen Option : 2




Q24 WWhat is the direction of the southeast trade winds in India during the southwest monsoon season?

Ans 1.

4 Question ID : 264330150250
’ Status : Not Answered
Chosen Option : --

Q.25

Ans 1.
2.
3.
4.

Question ID : 264330145740
Status : Answered
Chosen Option : 1
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